
 

 

 

 

 

 

 

 

 

INSTALLATION MANUAL 

 

Product nr: FS5519-5001  

  



 

 

 

M6X12 MRT  12pcs 

M4x10 MRT  12pcs 

M8X20 MFX  8pcs    

Machine foot  4pcs 

   



 

 

1.Start with the bottom 
plate 

 

2.Attach the feet with 
screws (M6x12 MRT) 
from the top of the 
bottom plate 

 

3.Image of screws 
attached to the bottom 
plate 



 

4.Connect the pillar to 
the bottom plate with 8 
screws (M6X12 MRT) 

 

12.Screen can now be 
attached to the floor 
stand with 8 screws 
(M8x20 MFX) 



 13. After connecting the 
cables the décor list can 
be mount on each side 
 
  

 

14. To hide all the cables 
and screws cover can be 
placed 



 

20.Floorstand dual sided 
is now finished 

 


